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[bookmark: _GoBack]In the proofreading stage We realized that we have mistyped equation 1 (Line 87 and 88 in the attached document) and the explanation related to this equation. The officer on this stage informed us that we require to get editor approval to fix the mistypes. In the manuscript, the equation is written:

      
,

This is supposed to be

           
,                                                                                 

and therefore we also need to improve our statement in Line 89 and 91. The previous statement is
...(i.e. positive in upstream direction,
x = 0 at bifurcation, and hence x is negative in downstream
channels)...

The improvement will be
...(i.e. negative in upstream direction,
x = 0 at bifurcation, and hence x is positive in downstream
channels)...

The value in Line 91 on page 3 and line 7 on page 4 also need to be fixed in which now they are written:
L91 page 3: W0 = 322 m
L7 page 4: ...40 m..
And they are supposed to be:
L91 page 3: W0 = 480 m
L7 page 4: ...62.5 m..

Though the mistypes do not affect anything to our findings, We would like give our best in every detail in the published manuscript. Therefore, We are wondering if you will allow us to improve the mistypes.
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